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FASI	
  DI	
  UNA	
  SPERIMENTAZIONE	
  CLINICA	
  

•  FASE	
  1:	
  FARMACOLOGIA	
  CLINICA	
  E	
  TOSSICITA’.	
  
•  Serve	
  per	
  stabilire	
  la	
  sicurezza	
  del	
  farmaco,	
  il	
  dosaggio,	
  la	
  
•  farmacocineJca.	
  Sono	
  sufficienJ	
  20-­‐80	
  soggeP	
  sani,	
  
•  preferibilmente	
  di	
  sesso	
  maschile.	
  
•  FASE	
  2:	
  RICERCA	
  CLINICA	
  PER	
  GLI	
  EFFETTI	
  DEL	
  TRATTAMENTO.	
  
•  Serve	
  principalmente	
  per	
  studiare	
  l’efficacia	
  del	
  farmaco	
  
•  (studi	
  open,	
  add-­‐on	
  etc).	
  Sono	
  sufficienJ	
  100-­‐200	
  pazienJ.	
  
•  FASE	
  3:	
  STUDIO	
  CLINICO	
  CONTROLLATO	
  (SCC	
  	
  o	
  RCT).	
  
•  Dopo	
  che	
  il	
  farmaco	
  si	
  è	
  dimostrato	
  essere	
  ragionevolmente	
  
•  efficace	
  (FASE	
  2),	
  viene	
  valutato	
  aWraverso	
  
•  un	
  confronto	
  con	
  un	
  traWamento	
  standard	
  corrente	
  oppure	
  
•  con	
  placebo.	
  La	
  numerosità	
  varia	
  a	
  seconda	
  dello	
  studio.	
  
•  FASE	
  4:	
  SORVEGLIANZA	
  POST-­‐MARKETING.	
  Riguarda	
  la	
  valutazione	
  

del	
  valore	
  terapeuJco	
  e/o	
  degli	
  effeP	
  dannosi	
  del	
  farmaco	
  già	
  in	
  
commercio	
  (farmacovigilanza)	
  



IL	
  SIGNIFICATO	
  DEL	
  PROTOCOLLO	
  















ERRORI	
  NELLA	
  RICERCA	
  CLINICA	
  
2)	
  studi	
  non	
  comparaJvi:	
  ossia	
  mancanJ	
  di	
  un	
  
gruppo	
  di	
  confronto	
  o	
  di	
  controllo:	
  	
  

a)  bisogna	
  cercare	
  il	
  più	
  possibile	
  di	
  organizzare	
  
ricerche	
  di	
  Jpo	
  comparaJvo,	
  anche	
  nell’analisi	
  
di	
  casisJche	
  traWate,	
  	
  con	
  un	
  gruppo	
  di	
  
controllo	
  e	
  che	
  sia	
  adeguato	
  in	
  tuWe	
  le	
  variabili	
  
in	
  studio;	
  

b)  che	
  il	
  gruppo	
  di	
  controllo	
  sia	
  cosJtuito	
  in	
  modo	
  
valido,	
  appropriato	
  e	
  costruito	
  per	
  
randomizzazione;	
  

c)  Evitare,	
  quando	
  è	
  possibile,	
  gli	
  studi	
  
retrospePvi	
  e	
  preferire	
  gli	
  studi	
  prospePci,	
  	
  di	
  
coorte	
  o	
  di	
  follow-­‐up	
  (gli	
  studi	
  RCT	
  lo	
  sono)	
  	
  



3.  Sperimentazioni	
  cliniche	
  con	
  il	
  PLACEBO,	
  
quale	
  traWamento	
  randomizzato,	
  	
  solo	
  
quando	
  	
  non	
  c’è	
  un	
  traWamento	
  già	
  
consolidato	
  (traW.	
  di	
  base).	
  Se	
  c’è	
  va	
  dato	
  a	
  
tuP	
  gli	
  arruolaJ:	
  poi	
  1	
  gruppo	
  assume	
  il	
  
placebo	
  e	
  l’altro	
  il	
  traWamento	
  sperimentale;	
  

4.  Mancata	
  o	
  errata	
  randomizzazione:	
  va	
  
rispeWata	
  l’assegnazione	
  randomizzata	
  dei	
  
traWamenJ;	
  qualsiasi	
  altro	
  metodo	
  per	
  
aWribuire	
  il	
  traWamento	
  ai	
  soggeP	
  da	
  
arruolare	
  	
  è	
  poco	
  scienJfico	
  



	
  
L’impiego	
  di	
  placebo	
  nella	
  sperimentazione	
  tra	
  diba67	
  medico-­‐legali	
  ed	
  e7ci	
  	
  
	
  
	
  	
  
9.	
  Qualora	
  la	
  sperimentazione	
  clinica	
  preveda	
  l’arruolamento	
  di	
  soggeP	
  alla	
  prima	
  

diagnosi	
  e	
  la	
  patologia	
  in	
  studio	
  è	
  lieve	
  e	
  i	
  controlli	
  di	
  follow-­‐up	
  sono	
  ravvicinaJ	
  
è	
  giusJficabile	
  ed	
  eJco	
  prevedere	
  un	
  braccio	
  a	
  placebo.	
  	
  

	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Inoltre	
  	
  l’impiego	
  del	
  placebo	
  è	
  u7le	
  nella	
  valutazione	
  sia	
  dell’efficacia	
  del	
  

tra<amento	
  ,	
  ma	
  anche	
  della	
  tollerabilità	
  e	
  la	
  tossicità	
  .	
  
	
  
Comunque	
  il	
  traWamento	
  a	
  	
  placebo	
  deve	
  essere	
  assegnato	
  mediante	
  

randomizzazione	
  
	
  
10.	
  Mancata	
  o	
  errata	
  randomizzazione:	
  i	
  campioni	
  o	
  i	
  gruppi	
  di	
  controllo	
  devono	
  

essere	
  cosJtuiJ	
  per	
  randomizzazione,	
  qualsiasi	
  altro	
  metodo	
  è	
  poco	
  scienJfico.	
  











ERRORI	
  NELLA	
  RICERCA	
  CLINICA	
  
7.  sJma	
  inappropriata	
  della	
  Sample	
  Size,	
  ciò	
  	
  non	
  permeWe	
  di	
  avere	
  

una	
  buona	
  probabilità	
  di	
  meWere	
  in	
  evidenza	
  una	
  reale	
  	
  differenza	
  
significaJva	
  tra	
  i	
  traWamenJ	
  in	
  studio	
  (bassa	
  potenza	
  dello	
  studio).	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
7.  Tipologia	
  di	
  studi	
  DI	
  STUDI	
  SPERIMENTALI	
  

a)  studi	
  negaJvi:	
  ipoJzzano	
  	
  l’equivalenza	
  tra	
  due	
  traWamenJ	
  
b)  studi	
  di	
  non	
  inferiorità:	
  che	
  il	
  traWamento	
  sperimentale	
  non	
  sia	
  

inferiore	
  al	
  traWamento	
  standard	
  
c)  studi	
  di	
  superiorità:	
  	
  che	
  il	
  traWamento	
  A	
  sia	
  superiore	
  al	
  

traWamento	
  	
  B	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  

8.  altri	
  Jpi	
  di	
  errore	
  come:	
  l’uso	
  improprio	
  dei	
  test	
  staJsJci	
  parametrici	
  
al	
  posto	
  dei	
  NON	
  PARAMETRICI,	
  	
  specialmente	
  se	
  si	
  lavora	
  su	
  
campioni	
  di	
  poche	
  unità.	
  

9.  	
  oppure	
  confronJ	
  mulJpli	
  senza	
  applicare	
  la	
  correzione	
  del	
  
Bonferroni,	
  oppure	
  applicaJ	
  su	
  piccoli	
  campioni	
  (n<30	
  unità	
  per	
  ogni	
  
braccio)	
  etc	
  



•  TIPOLOGIA	
  DEGLI	
  ERRORI:	
  
•  DELLO	
  STRUMENTO	
  DI	
  MISURA	
  	
  
•  DI	
  TIPO	
  STATISTICO:	
  Se	
  la	
  dimensione	
  dei	
  campioni	
  è	
  elevata	
  	
  si	
  può	
  

avere	
  fiducia	
  (è	
  quasi	
  	
  certo	
  o	
  molto	
  probabile)	
  dei	
  risultaJ	
  della	
  
sperimentazioni	
  e	
  l’errore	
  che	
  si	
  commeWe	
  tende	
  a	
  zero	
  (il	
  famoso	
  
P-­‐value	
  <0.0001)	
  ;	
  	
  	
  

•  ma	
  se	
  è	
  stata	
  effeWuata	
  una	
  sperimentazione	
  	
  o	
  uno	
  studio	
  su	
  	
  
campioni	
  di	
  pochissime	
  unità,	
  ci	
  sarà	
  un	
  errore	
  staJsJco	
  
elevaJssimo	
  e	
  	
  tanJssima	
  incertezza	
  sul	
  reale	
  valore	
  della	
  ricerca;	
  

•  Ne	
  segue	
  che	
  è	
  necessario	
  applicare	
  la	
  metodologia	
  della	
  ricerca	
  	
  in	
  
tuWe	
  le	
  sue	
  parJ	
  ed	
  è	
  molto	
  importante	
  sJmare	
  la	
  Sample	
  Size	
  in	
  
modo	
  appropriato	
  che	
  	
  richiede,	
  tra	
  l’altro,	
  	
  di	
  fissare	
  a	
  priori	
  la	
  
quanJtà	
  di	
  errore	
  (di	
  primo	
  e	
  di	
  secondo	
  Jpo)	
  	
  che	
  si	
  	
  è	
  disposJ	
  ad	
  
acceWare;	
  

•  Le	
  cause	
  di	
  	
  errore	
  nella	
  rilevazione	
  dei	
  daJ	
  o	
  delle	
  informazioni	
  
sono:	
  	
  

•  gli	
  errori	
  	
  sistemaJci,	
  	
  casuali	
  	
  (Secondo	
  la	
  curva	
  di	
  Gauss)	
  e	
  
grossolani	
  che	
  sono	
  rispePvamente	
  evitabili,	
  inevitabili	
  e	
  
eliminabili.	
  



•  IL	
  CALCOLO	
  NUMERICO	
  PER	
  UN	
  ESITO,	
  UN	
  RISULTATO,	
  DI	
  TIPO	
  QUANTITATIVO	
  

Sono	
  necessari	
  quanEficare	
  i	
  seguenE	
  parametri:	
  
	
  
μ1	
  :	
  la	
  risposta	
  media	
  prevista	
  per	
  il	
  primo	
  traMamento	
  

(di	
  solito	
  il	
  traMamento	
  standard,	
  il	
  placebo,	
  etc).	
  
μ2	
  :	
  la	
  risposta	
  media	
  prevista	
  per	
  il	
  secondo	
  

traMamento	
  (di	
  solito	
  il	
  traMamento	
  sperimentale)	
  
affinché	
  lo	
  si	
  possa	
  ritenere	
  clinicamente	
  
importante.	
  

σ	
  o	
  DS	
  (una	
  misura	
  della	
  variabilità	
  nota	
  o	
  sEmabile	
  
nella	
  popolazione	
  con	
  media	
  uguale	
  a	
  μ1	
  Pop).	
  

∆,	
  α	
  e	
  β	
  come	
  sopra	
  definiE.	
  



PER	
  UN	
  ESITO,	
  UN	
  RISULTATO	
  DI	
  TIPO	
  QUANTITATIVO	
  
Si	
  deve	
  specificare	
  la	
  grandezza	
  dell’EFFETTO,	
  ossia	
  quale	
  
cambiamento	
  nella	
  risposta	
  media	
  fra	
  i	
  due	
  traWamenJ	
  
si	
  riJene	
  clinicamente	
  importante	
  da	
  scoprire:	
  (∆	
  =	
  μ1	
  	
  	
  
-­‐	
  μ2)	
  ad	
  un	
  predefinito	
  livello	
  di	
  significaJvità	
  α	
  (al	
  
massimo	
  =	
  0.05)	
  e	
  β	
  (al	
  massimo	
  =	
  0.20).	
  	
  

	
  
Usando	
  il	
  test	
  t	
  di	
  Student	
  per	
  campioni	
  indipendenJ	
  	
  
Vanno	
  quanJficaJ	
  A	
  PRIORI	
  i	
  seguenJ	
  parametri:	
  
• μ1	
  :	
  la	
  risposta	
  media	
  prevista	
  per	
  il	
  primo	
  traWamento	
  
(di	
  solito	
  il	
  traWamento	
  standard,	
  il	
  placebo,	
  etc).	
  

• μ2	
  :	
  la	
  risposta	
  media	
  prevista	
  per	
  il	
  secondo	
  
traWamento	
  (di	
  solito	
  il	
  traWamento	
  sperimentale)	
  
affinché	
  lo	
  si	
  possa	
  ritenere	
  clinicamente	
  RILEVANTE	
  	
  

	
  	
  IL	
  TRATTAMENTO	
  SPERIMENTALE.	
  
• σ	
  o	
  DS	
  (una	
  misura	
  della	
  variabilità	
  nota	
  o	
  sJmabile	
  
nella	
  popolazione	
  con	
  media	
  uguale	
  a	
  μ1).	
  

• ∆,	
  α	
  e	
  β	
  come	
  sopra	
  definiJ.	
  



CALCOLO	
  NUMERICO	
  	
  della	
  sample	
  size	
  	
  
•  	
  CALCOLO	
  NUMERICO	
  Assumendo	
  che	
  il	
  
colesterolo	
  totale	
  medio	
  nei	
  sogge[	
  traMaE	
  
con	
  A	
  sia	
  uguale	
  a	
  240	
  mg/dl	
  (μ1)	
  e	
  che	
  una	
  
nuova	
  molecola	
  B	
  sia	
  più	
  efficace	
  di	
  A	
  
qualora,	
  alla	
  fine	
  del	
  traMamento	
  si	
  registri	
  
un	
  livello	
  medio	
  pari	
  a	
  220	
  mg/dl	
  (μ2).	
  	
  

•  Sapendo	
  che	
  nella	
  popolazione	
  normale	
  il	
  
livello	
  medio	
  di	
  colesterolo	
  è	
  di	
  μ=220	
  ±	
  30	
  e	
  
fissando	
  α=0.05	
  e	
  β=0.20	
  (corrisponde	
  una	
  
potenza	
  dell’80%)	
  si	
  calcola	
  la	
  numerosità	
  
minima	
  per	
  ogni	
  braccio:	
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Per	
  il	
  calcolo	
  numerico	
  si	
  applica	
  la	
  seguente	
  formula:	
  

SosJtuendo	
  alla	
  formula	
  i	
  valori	
  dell’esempio	
  si	
  sJma	
  il	
  valore	
  minimo	
  di	
  n:	
  
numero	
  di	
  soggeP	
  da	
  arruolare	
  per	
  ogni	
  braccio	
  della	
  sperimentazione	
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